Name of Agency :-

DIGVIJAY KUMAR SINGH (Registration- 1220344) MEHURA, BAGAHA-1, DIST- WEST CHAMPARAN, MOBILE NO- 9304084851, EMAIL ID- <u>DIGVIJAYKUMARSINGH11977@REDIFFMAIL.COM</u>

Name of Work :-

MMGSUY/23-24 BAGAHA-1/01

:-

1. NH28B TO MEHURA HIGH SCHOOL

3.20 KM

Agreement no.

:- 09/mmasoy/SBD/2023-24

W/O Letter issued by

C.E-03, BIHAR, PATNA

Letter No.-492 Enc, Date-14.03.2024

LOA Letter No. and Date

:- Lt No-438, Date-14.03.2024

Agreement value

1

3

:- 3,44,17,396.00

Construction Cost Maintenance Cost

:- 3,14,74,943.00

:- 29,42,469.00

Date of work order

:- 14.03.2024

Time of Completion

:- 13.03.2025

Performance Security

6,89,000.00 (Six Lac eighty

nine thousand only) :- 91,000.00 (Ninty one

Additional Performance Guarantee

thousand only)

Security Deduct from bill

8 %

:-

No of Items

- 56 Item

Rate

0.14% (Zero points one four

percent Below on S/R

Malm

Executive Engineer RW.D. (W) Division Bagaha-1

किर्वाभय कुमार्थिव



बिहार BIHAR

Standard Form: Agreement

ANNEX - B

09 MMGSUY/SBD/2023-24

मुद्रांक विक्रेता, निंवकार्यां , लौरि

Between The.......EXECUTIVE ENGINEER, RURAL WORKS DEPARTMENT, WORK DIVISION, BAGAHA-1.....

("TheE/I") of the one part, and DIGVIJAY KUMAR SINGH (Registration- 1220344) MEHURA, BAGAHA-1, DIST- WEST CHAMPARAN, MOBILE NO- 9304084851, EMAIL ID-DIGVIJAYKUMĀRSINGH11977@REDIFFMAIL.COM

[Name & address of Contractor] ("The Contractor") of the other part. Whereas the E/I is desirous that the Contractor execute Output and performance based Rural Road contract for the maintenance of Roads....... MMGSUY/23-24 BAGAHA-1/01 (NH28B TO MEHURA HIGH SCHOOL) (Tender ID- 131193) under MMGSUY...... (Hereinafter called "The Work") and the E/I has accepted the Bid by the Contractor for the execution of such Works and the remedying of any defects therein, at a contract price of Rs- 3,44,17,396.00 (RS THREE CRORE FOURTY FOUR LAC SEVENTEEN

THOUSAND THREE HUNDRED NINTY SIX ONLY)

SL No.	. Package Number	Road Name	Length (Km)
1	MMGSUY/23-24 BAGAHA- 1/01	NH28B TO MEHURA HIGH SCHOOL	3.20 KM

NOW THIS AGREEMET WITNESSETH and the Parties hereto agree as follows:

1. In this Agreement, words and expression shall have the same meanings as are respectively assigned to them in the General condition hereafter referred to, and they shall be deemed to form and be read and construed as part of this Agreement.

Executive Engineer W.D. (W) Division

नि विकास अमार सिर्द

- In consideration of the payments to be made by the E/I to the Contractor as hereinafter mentioned, the Contractor hereby covenants with the E/I to execute and complete the Works and remedy any defects therein in conformity in all aspects with the provisions of the contract.
- 3. The E/I hereby covenants to pay the Contractor in consideration of the execution and completion of the Works and the remedying the defects wherein the contract price or such other sum as may become payable under the provisions of the contract at the times and in the manner prescribed by the contract.
- 4. The following documents shall be deemed to form and be read and construed as part of this Agreement, viz:
- (i) Letter of Acceptance
- (ii) Contractor's Bid
- (iii) Section VI General Conditions,
- (iv) Section VII Particular Conditions
- (v) Section V Technical Specifications (General and Supplementary Technical Specifications)
- (vi) Appendix A Drawings
- (vii) Section IV Works Schedule
- (viii) Quality Plan for Output and Performance Based Road Contract as per Clause A14.1 of the Technical Specifications.
- (ix) Appendices to the Contract
- (x) Addenda issued during bid period
- (xi) Any other relevant documents listed in the Particular Conditions together with any post bid correspondence.

In witness where of the parties there to have caused this Agreement to be executed the day and year first befour written

The Common Seal of -....

Was here unto affixes in the presence of

Signed, sealed and delivered by the said

In the presence of:

Binding Signature of E/

Executive Engineer RW.D. (W) Division

Bagaha-1

Binding Signature of Contractor

विभिष्म क्रमार सिर्दे

Mukhya Mantri Gram Sadak Unnayan Yojna (MMGSUY)

BILL OF QUANTITIES (BOQ) - CONSTRUCTION

Name of NH-28 B TO MEHURA HIGH SCHOOL

Road :

Block BAGAHA-1

District :-

WEST CHAMPARAN

Length: 3.20 km

SI. No	Description of Items	Qty.	Unit	Rate (Rs.)	Amount (Rs.)
	Setting Out Pillars :- Providing & Fixing of Working				
	benchmark Pillars 01 nos. per km & 04 Nos. of				
1	reference pillars required for 1 Km. as per drawings				
	given and direction of E/I	3.2	Km	16259.83	52031.46
	Clearing and Grubbing Road Land				
	Clearing and Grubbing Road Land (By manual means)				
	including uprooting wild vegetation, grass, bushes				
	shrubs, saplings and trees of girth upto 300mm,				
	removals of stumps of such trees cut earlier & disposal			1 1	
	of unserviceable materials & stacking of serviceable			1	
2	materials to be used or auctioned upto a lead of 1000		4.4		
	m including removal and disposal of top organic soil				
	not exeeding 150mm in thickness as per technical		111		
	specification - clause 201.1 and direction of E/I (By				
	Manual Means) In area of non-thorny jungle			1	
	., .	1.28	Hect.	76926.08	98465.38
	Cutting of Trees including Cutting of Trunks.				
	Branches and Removal of Stumps	TI (
	Cutting of trees, including cutting of trunks, branches				
3	and removal of stumps & roots, refilling, compaction of				
	backfilling and stacking of serviceable material by				
	manual means with all lifts as per Technical				
	Specification Clause 201.7	246			
	Lead upto 1000M				0.00
	Girth above 300 mm to 600 mm	0.00	Each	362.67	0.00
	Girth above 600 mm to 900 mm	0.00	Each	631.45	0.00
	Girth above 900 mm to 1800 mm	0.00	Each	1247.77	0.00
	Removal of Telephone/Electric Poles and Lines				
	Removal of telephone/electric poles with wires				
4	including excavation and dismantling of foundation				
	concrete and lines under the supervision of concerned				
	department, disposal with all lifts and upto a lead of	0.00	N-	1 252 25 1	0.00
	1000 m and stacking the serviceable and unserviceable	0.00	No	253.35	0.00
	Box Cutting :- Excavation for roadway in soil using				
5	manual means for carrying of cut earth to	-	3 1 10		
	embankment site with a lift upto 1.5 m and lead upto			10404	
	50 m as per Technical Specification Clause 302.3	0	Cum	104.01	0.00
	Construction of Embankment with Material				
	Obtained from Roadway Cutting				
	Construction of embankment with approved materials				
	deposited at site from roadway cutting and excavation				
	from drain and foundation of other structures graded				
	and compacted to meet equirement of Tables 300.1		1 10.15		
	and 300.2 as per Technical Specification Clause 301.5.				
- 1		0.00	Cum	81.30	0.00

Executive Engineer R.W.D. (W) Division Bagaha-1

Executive Engineer
R.W.D. (W) Division
Bagaha-1

दि निवधम दुमार हिंदे

175

SI. No.	Description of Items	Qty,	Unit	Rate (Rs.)	Amount (Rs.)
7	Scrarifying Existing Bituminous Surface to a Depth of 150 mm and disposal disposal of scrarified materials with a lift upto 3m and lead upto 1000m as per technical specification clause 301.4	2763.75	Sqm	15.42	42610.32
8	Construction of embankment with approved material obtained from borrow pits with a lift upto 1.5 m, transporting to site, spreading, grading to required slope and compacting to meet requirement of Tables 300.1 and 300.2 with a lead upto 100 m as per Technical Specification Clause 301.5	1966.10	Cum	193.53	380505.05
9	Construction of embankment with approved material obtained from borrow pits with a lift upto 1.5 m, transporting to site, spreading, grading to required slope and compacting to meet requirement of Tables 300.1 and 300.2 with a lead upto 1000 m as per Technical Specification Clause 301.5	842.62	Cum	260.98	219901.86
10	Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m & 100 m as per Technical Specification Clause 303.1. (Including Royality & Labour Cess).	1454.23	Cum	264.51	384655.20
11	Granular Sub-base with Well Graded Material (Table 400.1):- Construction of granular sub-base by providing well graded material, spreading in uniform layers with tractor mounted grader arrangement on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401. (For Grading II Material)			3557.29888	232291.62
12	WBM Grading 2:-Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening/binding materials to fill-up the interstices of coarse aggregate, watering and compacting to the required density grading 2 as per Technical Specification Clause 405.	70.32	Cum	7136.30944	501825.28
13	WBM Grading 3:-Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fillup the interstices of coarse aggregate, watering and compacting to the required density Grading 3 as per Technical Specification Clause 405.	639.73	Cum	6824.8395	4366055.00

1

Executive Engineer R.W.D. (W) Division Bagaha-1

DT.

Executive Engineer RW.D. (W) Division Bagaha-1

किनियाभ कुमारमिक्ट

SI. No.	Description of Items	Qty.	Meth		
	Prime Coat (Low Porosity) : Providing and applying	40.	Unit	Rate (Rs.)	Amount (Rs.)
	primer coat with bitumen emulsion (sc. 1) on account	1			
	surface of granular base including cleaning of			1 1	
- 1	surface and spraying primer at the sate of 0.20			1 1	
1	Long/squi using mechanical means as per Technical			1	
	Specification Clause 502	8529.75	Sqm	57.69	492084.00
	Tack Coat:- Providing and applying tack coat with				
	Bitumen emulsion (RS-1) using emulsion distributor				
15	at the rate of 0.25-0.30kg per sqm on the prepared			1	
	granular surfaces treated with primer & cleaned with				
	Hydraulic broom as per Technical Specification Clause			1	
	Bituminous Macadam :- Providing and laying	17059.50	Sqm	19.81	337905.00
	bituminous macadam with 100-120 TPH hot mix plant				
	producing an average output of 75 tonnes per hour				
	using crushed aggregates of specified grading				
16	premixed with bituminous binder, transported to site,				
10	llaid over apreviously prepared surface with navon				
	finisher to the required grade, level and alignment and				
	rolled as per clauses 501.6 and 501.7 to achieve the	Trial .			15
	desired compaction.		. Inc.		
	MSS (Waste Plastic) : - Providing, laying and rolling of	426.49	Cum	12756.34	5440451.45
	close-graded premix surfacing material of 20 mm				
	thickness composed of 11.2 mm to 0.9 mm (Type-A) or	St. T.	lu -		
	13.2 mm to 0.9 mm (Type-B) aggregates using				
	penetration grade bitumen to required line, grade and		1 150	1 m	the state of
17	level to serve as wearing course on a previously				
	prepared base, including mixing in a suitable plant,		100.01		
	laying and rolling with a three wheel 8-10 kN static				
	roller and finishing to required level and grades as per				
	Technical Specification Clause 509				
			0 sqm	333.41419	0.00
6.3	Semi-Dense Bituminous Concrete :- Providing and			000.11117	0.00
	laying semi dense bituminous concrete with 100-120			3.00	
	TPH batch type HMP producing an average output of	,			
	75 tonnes per hour using crushed aggregates of				
	specified grading, premixed with bituminous binder @)	- High		. h-7.
18	4.5 to 5 per cent of mix and filler, transporting the hot				5100
	mix to work site, laying with a hydrostatic paver			.5 1 N. L.	
	finisher with sensor control to the required grade,				
	level and alignment, rolling with smooth wheeled,				
	vibratory and tandem rollers to achieve the desired	i			3.7
	compaction as per MoRTH specification clause No. 508	8			4
	complete in all respects		24 Cum	15385.	11 3280720.86
	Construction OF Dry Lean Concrete Sub Base Over				
	prepared sub grade with coarse and fine aggregate				200
	conforming to IS 383, the size of Coarse Agg. No				
	exceeding 25mm , agg. Cememt ratio not to exceed				
1	15:1, aggregate gradation after blending to be as pe				
19	table 600-1, cement content not to be less than				
	150kg/cm, opc to be determined during trial lengt		4		
	construction, concrete strength not to be less than 1				
	Mpa at 7 days, mixed in a batching plant, trasported				
	site, laid with a paver with electronic sensor				
	compacting with 8-10 tonnes vibrartory roller	,	20.0		
	finishing and curing		30 Cum	7883.55	236506.56

मिक्कियम कुमार मिक

Executive Engineer R.W.D. (W) Division Bagaha-1

Executive Engineer R.W.D. (W) Division Bagaha-1

SI. No.	Description of Items	Qty.	Unit	Rate (Rs.)	Amount (Rs.)
	Panel Concrete Pavement-Construction of Panel				
	concrete ,plain cement concrete pavement, thickness		-1 50 19		
	as per design, over a prepared sub base, with 43 grade				_8, 60,0
	cement or any other type as per Caluse 1501.2.2 M			U -	
	30(Grade) coarse and fine aggregates conforming to				
	IS:383, maximum size of coarse aggregate not				
	exceeding 25mm, mixed in a concrete mixer of not				
	less than 0.2 cum capasity and appropriate weigh				
	batcher using approved mix design ,laid in approved				
	fixed side formwork (steel channel,laying and fixing of			1	
	125 micron thick polythene film,wedges, steel plates				
20	including levelling the formwork as per drawing),				
20	spreading the concrete with shovels, rakes, compacted				
	using needle, screed and plate vibrators and finished in				
	using needle, served and plate vibrators and finished in				1000
	continous operation including provision of contraction				
	and expansion ,construction joints, applying				
	debonding strips ,primer ,sealant ,dowel bars, near				
	approaches to bridge/ culvert and construction joints,				V
	admixture as approved , curing of concrete slabs for 14				
	days. Curing compound (where specified) and water				
	finishing to lines and grade as per drawing and	7.10			
	Technical specification Clause 1501. PCC Grade M-30				
	EachPanel (0.50X0.50) thickness 100 mm	459.23	Cum	11616.97	5334863.00
	TRAFFIC SIGNS, MARKINGS & OTHER ROAD	107120	0		
	APPURTENANCES				
21	Kilometre Stone				
	Reinforced cement concrete M15 grade kilometre		9 3		
	stone/local stone of standard design as per IRC:8	No.			
	fixing in position including painting and printing, etc		- 4	1-1-1	11
	as per drawing and Technical Specification Clause 1703			5 0	
i	5th Kilometre Stone (precast)	1	Each	5853.98	5853.98
ii	Ordinary Kilometer Stone (Precast)	3	Each	3582.77	10748.31
iii	200 m stone (precast)	14	Each	930.30	13024.20
	(1)Providing and Fixing 'Logo' of MMGSUY Project :-		3,32		
	Providing and fixing of typical PMGSY informatory sign		- 4		
	board with Logo as per MORD specifications and				
	drawing. Three MS Plates of 1.6 mm thick, top and				
	middle plate duly welded with MS flat iron 25mm x 5m				
	middle plate duly welded with MS flat iron 25mm x 5m				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm.				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos.				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly				
22	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides.				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic enamel paint of				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic enamel paint of superior quality in required shade and colour. All				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic enamel paint of superior quality in required shade and colour. All sections of framed posts and steel tube will be painted				
	middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic enamel paint of superior quality in required shade and colour. All	5	Each	16018	80092.35

Executive Engineer R.W.D. (W) Division Bagaha-1

निविधाय कुमार हिंद

F.W.D

SL No.	Description of Items	Qty.	Unit	Rate (Rs.)	Amount (Rs.)
SL NO.	Printing new letter and figures of any shade with				
	synthetic enamel paint black or any other approved		per cm		11 Dec. 1
23	colour to give an even shade as per drawings and		height per		
	Technical Specification Clause 1701	88	letter	0.77	67.41
	Boundary Pillar/Gaurd Post :- Reinforced cement				
	concrete M15 grade boundary pillars/local stone of				
24	standard design as per IRC:25, fixed in position				
24	including finishing and lettering but excluding painting				
	as per drawing and Technical Specification Clause 1704	40	No	751.94	30077.53
	Rumble Strips : Provision of 15 nos rumble strips				
	covered with premix bituminous carpet, 15-20 mm				
25	high at center, 250 mm wide placed at 1 m center to				
20	center at approved locations to control speed, marked				3375.82
	with white strips of road marking paint.	10	Sqm	333.41	33/5,84
	Traffic Signs : Providing and fixing of semi reflective				
	cautionary, mandatory and informatory sign board as				
	per IRC :67 made of 1.5 mm thick MS steel duly stove				
	white colour in front and gray colour on back with red				
	reflective border of 65 mm width and required letters				
	and figures with reflective tape engineering grade as			1	
	per clause 1701.3.9 of MORD for rural road of required			1	
	shade and colour supported and welded on				
26	47mmx47mmx12swg sheet tube firmly fixed to the ground by mean of properly designed foundation with				
	M15 grade cement concrete 450x450x600 mm		100	10.7	
	.600mm below ground level as per approved drawing		1		
	clause 1701.2.2.				
	clause 1701.2.2.	X			
	600 mm equilateral & triangle	8	Each	5368.74	42949.93
	600 mm circular	12	Each	6692.46	80309.48
	600 mm x 450 mm rectangular	10	Each	6556.96	65569.58
	900 mm side octagon, OR	4	Each	10746.99	42987.95
	Road Marking with Hot Applied Thermoplastic		1		
	Compound with Reflectorising Glass Beads on				
	Bituminous Surface: Providing and laying of hot				
	applied thermoplastic compound 2.5 mm thick		4.00		
27	including reflectorising glass beads @ 250 gms per			The sales in	
	sqm area, thickness of 2.5 mm is exclusive of surface				
	applied glass beads as per IRC:35 .The finished surface	12-14-	112		
	to be level, uniform and free from streaks and holes.	446	Sqm	886.50	395379.00
	Road Marking with Hot Applied Thermoplastic	110	- 54		070077.00
	Compound with Reflectorising Glass Beads on CC				
	Surface :-Providing and laying of hot applied				
	thermoplastic compound 2.5 mm thick including		The state of the s		
	reflectorising glass beads @ 250 gms per sqm area,	-			1 - 12
	thickness of 2.5 mm is exclusive of surface applied	194	Sqm	1005.95	195154.30
_	Planting of trees by the road side (Avenue trees) in	174	John	1000.30	170104.30
			143		
	0.60 m dia holes, 1 m deep dug in the ground, mixing		The second second		
28	the soil with decayed farm yard/sludge manure,				
	planting the saplings, backfilling the trench, watering,	164		1	
	fixing the tree guard and maintaining the plants for				
	one year	148	Each	1305.10	193154.80
	Irrigation Pipe (300MM Dia)				

Executive Engineer R)W.D. (W) Division Bagaha-1

निभिक्षाम् हामार सिंह

SI. No	Description of Items	Qty.	Unit	Rate (Rs.)	Amount (Rs.)
OH IVE	Providing and laying of a reinforced cement concrete		The same of the sa	nate [RS.]	A THIRD THE
	pipe duct,300 mm dia, across the road (new				
	construction), extending from drain to drain in cuts				
	and toe of slope to toe of slope in fills, constructing				
	head walls at both ends, providing a minimum fill of			1	
	granular material over top and sides of RCC pipe as per			1	
	IRC:981997,bedded on a 0.3 m thick layer of granular				
29	material free of rock pieces, outer to outer distance of	108.00	RM	1084.83	117161.19
	pipe at least half dia of pipe				
	subject to minimum 450 mm in case of double and	15.00		1	
	triple row ducts, joints to be made leak proof, invert				
	level of duct to be above higher than ground level to		70.00		
	prevent entry of water and dirt, all as per IRC: 98 -		M		
	1997 and approved drawings.				
	Disment				
	Dismantling of existing structures like culverts,				
	bridges, retaining walls and other structure				
	bridges, retaining wans and other structure				1011 "T-10";"
	comprising of masonry, cement concrete, wood work,				1 42 4
30	steel work, including T&P and scaffolding wherever		i i		2.5
	necessary, sorting the dismantled material, disposal of			The second	
	unserviceable material and stacking the serviceable				7. 7.
	material with all lifts and lead of 1000 m as per				
	Technical Specification Clause 202.				0171110
i	Cement Concrete	132.43	Cum	692.77	91744.60
ii	Reinforced Cement Concrete	16.76	Cum	1610.02	26983.89
	Dismantling of existing structures like culverts,	1.0	6		
	bridges, retaining walls and other structures				
31	comprising of brick masonry, including disposal of				
31	unserviceable material and stacking the serviceable		× × ×		
	material with all lift and lead of 1000 m as per			1	
	Technical Specification Clause 202.				
i	Cement mortar	20.25	Cum	321.93	6519.13
	Removing all types of Hume pipes and stacking				
32	including Earthwork and Dismantling of Masonry				
	Works as per Technical Specification Clause 202.			10.0	
i	Upto 300 mm dia Hume pipe	0.00	RM	263.38	0.00
ii	Above 600 mm to 900 mm dia Hume pipe	7.50	RM	356.13	2671.01
iii	Above 1000 mm dia Hume pipe	0.00	RM	609.78	0.00
	Cross Drainage Works	3.00	****	307.70	0.00
	Parapet Repair (S.C)				0.00
	Parapet Construction Plain/reinforced cement				
	concrete in substructure complete as per drawings				
31	and technical specification Clauses 802, 804, 805, 806,	11.25	Cum	11871.85	133558.31
,,	[1] [1] [1] [1] [1] [1] [1] [1] [1] [1]	11.23	Culli	110/1.03	133330.31
	807, 1202 ans 1204 (M25)				
	Painting two coats including primer coat after filling				-
	the surface with synthetic enamel paint in all shades			40 - 12 - 1	De total con
		78.40	C	120.16	1001011
	on new, plastered / concrete surfaces as per drawing	70.40	Sqm	139.16	10910.14
	and Technical Specification Clause 1701				
-	Providing congrete for plain /painforced congrets in			+	
- 1.	Providing concrete for plain/reinforced concrete in				
	open foundations complete as per drawings and	0.00	Cum	9496.78	0.00
ľ	technical specifications Clause 802, 803, 1202 & 1203				
	PCC M-15 Grade Curtain wall				

Executive Engineer
R.W.D. (W) Division
Bagaha-1

	Description of Items	Qty.	Unit	Rate (Rs.)	Amount (Rs.)
1. No.	Providing concrete for plain/reinforced concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203 PCC M-20 Grade	0.00	Cum	10337.03	0.00
	Hume Pipe Culverts				
35	Earth work in excavation for foundation of structures upto 3.0 m depth as per drawing and technical specification clause 1104	49.63	cum	405.83	20143.22
36	Providing concrete for plain/reinforced concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203 PCC M-15 Grade	5.71	cum	9496.78	54198.12
37	Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204 (M15	26.51	cum	10212.83	270752.34
38	Providing and laying RCC pipe NP-3 for culverts on first class bedding of PCC M10 material in single row including fixing collar with cement mortar 1:2 but excluding excavation, protection works,backfilling concrete and masonary works in head walls and parapets as per clause 1106 - 1000 mm Dia Pipe	7.50	no	8010.21	60076.58
39	Providing and laying RCC pipe NP-3 for culverts on first class bedding of PCC M10 material in single row including fixing collar with cement mortar 1:2 but excluding excavation, protection works,backfilling concrete and masonary works in head walls and parapets as per clause 1106 - 600 mm Dia Pipe	0.00	no	3387.33	0.00
10	Painting on Parapet Wall (Black & White Strips) Painting two coats including primer coat after filling the surface with synthetic enamel paint in all shades on new, plastered / concrete surfaces as per drawing and Technical Specification Clause 1701	20.64	Sqm	139.16	2872.26
	RCC Slab Culvert				
1 1	Earthwork in excavation for structures as per drawing and technical specifications Clause 305.1 including setting out, construction of shoring and bracing, removal of stumps and other deleterious material and disposal upto a lead of 50 m, dressing of sides and bottom and backfilling in trenches with excavated	205.95	cum	405.83	83580.69
2	Sand Filling in Foundation Trenches as per drawing	4.53	cum	578.70	2621.51
3	and technical specification Clause 1108. Providing PCC M 15 (1:2.5:5) concrete for plain concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203	34.57	cum	9496.78	328303.68
4	Providing PCC M 15 (1:2.5:5) concrete for plain concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203	115.71	cum	9496.78	1098872.41
5	Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204. (M15 (PCC 1:2.5:5)	91.11	cum	10212.83	930490.94

Executive Engineer R.W.D. (W) Division Bagaha-1

पिकिविधाय कुमार विश्व

CI 140	Description of Items	Qty.	Unit	Rate (Rs.)	Amount (Rs.)												
SL No.	Plain/Reinforced cement concrete(M-20) in																
	substructure complete as per drawings and technical				104343.93												
46	specification Clauses 802, 804, 805, 806, 807, 1202 ans	9.80	cum	10647.34	104343.75												
	1204																
	RCC M25 in Deck Slab : Providing and laying																
	reinforced cement concrete in superstructure (Deck	20.01		11871.85	247053.20												
47	slab M25) as per drawing and technical specifications	20.81	20.81	20.81	20.81	20.81 cum	20.81 Cum	1 cum	cum	cum	cum	118/1.85	247033.2				
	Clauses 800, 1205.4, 1205.5																
	Supplying, fitting and placing HYSD bar reinforcement																
48	in super-structure complete as per drawing and	1.98	MT	75638.48	149839.83												
	technical specifications																
	Providing and filling joint sealing compound as per				244.46												
49	drawings and technical specifications with coarse sand	16.80	RM	56.04	941.46												
	and 6 per cent bitumen by weight																
	Providing Weepholes in brick masonary, Plain /		5														
	Reinforced concrete abutement, wing wall, return				7254.24												
50	wall with 100 mm dia AC pipe extending through the	48.00	00 Nos.	Nos. 151.13	7254.24												
	full width of the structure with slope of 1V: 20H																
	towards drawing																
51	Drainage spouts complete as per drawing and	4.00	Nos.	945.75	3783.00												
31	technical specifications Clause 1209.																
	To	26314292.34															
No.																	
	GST @ 18%	1	Rs.	4736572.6	4736572.6												
	631 @ 167		INS.	4700072.0													
	Labour Cess @ 1%	1	Rs.	263142.9	263142.9												
			1														
	Add Seigniorage Fee :	1	Rs.	205061.9	205061.9												
	Total Construction Co	31519069.8															
					160485.00												
52	Maintenance for 1st Year Maintenance for 2nd Year	1.00	Year Year	160485.00 369278.00	369278.00												
53	Maintenance for 3rd Year	1.00	Year	931803.00	931803.00												
54 55	Maintenance for 4th Year	1.00	Year	447713.00	447713.00												
56	Maintenance for 5th Year	1.00	Year	533672.00	533672.00												
30	Platification for Sur Feat	1.00	i rear	555072.00													
	Total Maintenance Cost (B) :- 2																
				100000	1005010												
	GST @ 18%	1	Rs.	439731.2	439731.2												
	Labour Coss @ 1%	1	Rs.	24429.5	24429.5												
	Labour Cess @ 1%		NS.	24427.3	24427.0												
1	Add Seigniorage Fee :	1	Rs.	39474.3	39474.3												
	3E 3	2946586.0															
	Total Maintenance Co.	st (Includ	ling GST 18	% & L.C 1%)	Z/40J00.0												
	Total Project Cost(Δ+R)															
	Total Project cost(, ,		-	34465655.8												

Bog trom item No. O to So for Rs. 344,65656.00 (Three crone fourty four

Lace Sixty five thousand Six hundred firsty six rupees only 1-

Executive Engineer B.W.D. (W) Division Bagaha-1 R. W. D. Works Circle Bettiah

विश्विष्य कुमार कि

OFFICE OF THE EXECUTIVE ENGINEER

RURAL WORKS DEPARTMENT, WORK DIVISION, BAGAHA-1

E-MAIL ID- eerwdbagaha 1@gmail.com

Lt. No. 488 / Bagaha-1 Date. 14/03/5024/

From.

Executive Engineer, Rural Works Department, Work Division, Bagaha-1

To

DIGVIJAY KUMAR SINGH (Registration- 1220344) MEHURA, BAGAHA-1, DIST- WEST CHAMPARAN MOBILE NO- 9304084851

EMAIL ID- DIGVIJAYKUMARSINGH11977@REDIFFMAIL.COM

Subject: Dear Sir, Letter of Acceptance.

This is notify that your Bid date 18.01.2024 for execution of the road from MMGSUY/23-24 BAGAHA-1/01 (NH28B TO MEHURA HIGH SCHOOL) (Tender ID- 131193) under MMGSUY Scheme for the Contract Rs- 3,44,17,396.00 (RS THREE CRORE FOURTY FOUR LAC SEVENTEEN THOUSAND THREE HUNDRED NINTY SIX ONLY) as corrected and modified in accordance with the Instructions to Bidders¹ is hereby accepted by our Agency.

You are hereby requested to furnish Performance Security, in the forms details in Para 27.4 of the ITB for an amount equivalent to Rs-3,44,17,396.00 (P.S-6,89,000.00)& Add. Security for unbalanced bid Rs-86,500.00) with in 21 day in accordance with the Conditions of contract using for that purpose form in Section VIII annex D and sign the Contract, failing which action as stated in Para 34.2 of ITB will be taken.

Your faithfully,

Executive Engineer
Rural Works Department
Work Division, Bagaha-1

Memo No. 438 / Bagaha-1 Date. 14/03/2014/

Copy Forwarded to

1. Superintending Engineer, RWD, Work Circle, Bettiah for Information.

2. Chief Engineer, RWD, Bihar, Patna for Information.

3. Secretary, BRRDA, RWD, Bihar, Patna for Information.

4. Engineer in Chief, RWD, Bihar, Patna for Information.

Executive Engineer Rural Works Department Work Division, Bagaha-1

14.727

ि विश्विषय कु मार्रिक्ट

> Executive Engineer R.W.D. (W) Division Bagaha-1

15.3.24

मुख्य अभिवंता ५,पटना का कार्यालय बामीण कार्य विभाग, बिहार, पटना।

THE- 11/9000-3 4090 1-161/24 492-200-

/ ucar (tale-14-3-24

मुख्य अभियोगा-6 ग्रामीण कार्य विभाग विज्ञान, पटना।

शेवा में

कार्यपातक अभिवता ग्रामीण कार्य विभाग कार्य प्रमंडल, बगहा-1

विशय : शीर्व MMGSUY अन्तर्गत कार्य प्रमण्डल, रमहा-1 के अधीन NH-28 B To Mehara High School (Tender-ID-131193) निर्माण कार्य के निविदा निष्पादन के संबंध में।

किंग्भ नीर्व MMGSUY अन्तर्गत कार्य प्रमण्डल, बगहा-1 के अधीन NH-28 B To Mehura High School (Tender-ID-131193) निर्माण कार्य के निविदा के वितीय बीड में सफल न्यूनतम निविदाकार Digvijay Kumar Singh (बीट आई०डी०-571862) को उनके द्वारा सद्भत दर जो कि परिमाण विपन्न की दर से 0.14 प्रतिशत कम है. अर्थात कुल राशि 3,44,17,396.00 (तीन करोड़ चौबालीस लाख संबह हजार तीन सौ फियानवे) रू० मात्र पर कार्यहित एवं आपकी अनुशंसा के आलोक में यह कार्य आवंदित किया जाता है।

2 निविदा की स्वीकृति सिर्फ इसी कार्य के लिए है, जो भविष्य में पूर्वाधारण नहीं होगा।

 कार्यपालक अनियंता, कार्य प्रमंडल, बगहा-1 संवेदक के द्वारा एकरारचमा के लिए जमा की गई राशि एवं निविदा के साथ अग्रयन के रूप में जमा किये गये संबंधित एनDएसDसीD/पासंबुक/किसा विप्रोजिट/बैंक गारन्टी आदि का सत्यापन कराकर प्रमहतीय कार्यालय में अमिलेखित करेंगे एवं कार्यादेश निर्गत करने के पूर्व अग्रधन की राशि के सत्यापन से संबंधित कागजात अधोहस्तावरी को उपलब्ध कराया जाना सुनिश्चित करेगें

4. एकरारनामा के पूर्व Bid Validity की अवधि विस्तार की जाँच के चपरान्त ही एकरारनामा सुनिश्चित किया जाय। 5. एकरारनामा के पूर्व निविदा सूचना के अनुसार सभी वांछित कागजातों की अद्यतन स्वच्छ एवं सत्यापित प्रति निश्चित

कय से प्राप्त कर लिया जाय एवं साथ में इसकी भी जॉब कर ली जाय कि संवेदक डीबार सूची से मुक्त है।

6. कार्य में व्यवहृत सामग्रियों का दर प्राक्कलन में स्वीकृत लीड के आधार पर दिया गया है, कार्य कराते समय अगर इसमें कमी पाई जाती है तो उसके दर में सापेश कमी कर दी जायेगी।

7. अधीक्षण अभियंता एवं कार्यपालक अभियंता अग्रेत्तर कार्रवाई से पूर्व भली भौति आश्वस्त हो लेंगे कि पथ का हस्तांतरण

हेत विभाग द्वारा अनापति प्रमाण पत्र निर्गत नहीं किया गया है।

 इस कार्य के संबंध में ग्रामीण कार्य विमाग, बिहार सरकार द्वारा निर्गत प्रशासनिक स्वीकृति एवं प्रावैधिक स्वीकृति तथा निविदा आमंत्रण सूचना में उल्लिखित शर्त एकरारनामा का भाग होगा, जिसे विशेष शर्त में जोड़कर संवेदक के साथ एकरारनामा किया जायेगा।

9. अनुमादित किये गये तुलनात्मक विवरणी के प्रत्येक बिन्दु की जॉच अपने स्तर से स्वयं कर लेगे एवं बृटि पाये जाने की स्थिति में वस्तुस्थिति से तत्क्षण अधोहस्ताक्षरी को अवगत करयेगे। त्रृटि के सुधारोपरान्त एकरारनामा की कार्रवाई की

10. एकरारनामा के समय प्रत्येक मद के भाषा की शुद्धता की जांच कार्यपालक अभियंता स्वयं कर लेंगे एवं यह सनिश्चित

करेगें कि इसमें कोई ब्रिटि न हो।

11. कार्यारम्म के पूर्व कार्यपालक अभियंता कार्य स्थल के निरीक्षणोपरान्त स्थल की स्थिति एवं प्राक्कलन में किये गये उपकंच से पूरी तरह आश्वस्त हो लेंगे एवं प्रशासनिक स्वीकृति तथा प्रावैधिक स्वीकृति के अग्रसारण प्रारूप में दिये गुये निदेश का अनुपालन सुनिश्चित करायेंगे।

12 कार्यादेश निर्गत करने से पहले संबंधित सवेदक से एकारारित अवधि के अन्दर कार्य समाप्त करने हेत् विस्तत मदवार

कार्य प्रोग्राम प्राप्त कर ही एकरारनामा किया जाय।

13. अधीक्षण अमियंता एवं कार्यपालक अभियंता विशेष रूप से ध्यान देंगे कि कार्य मानक विशिष्टियों के अनुरूप निर्धारित कार्य अवधि के अंदर पुरा की जाय।

14. कार्य समाप्ति की अवधि परिमाण विपन्न के अनुसार होगी।

Letter 2024

Executive Engineer R.W.D. (W) Division

→ Bagaha-1

15.3.24

निकिलय क्रमार प्रक

15. कार्यपालक अभियंता कार्य आवंटित किये गये संवेदक से 10 दिनों के अन्दर एकरारनामा कराना सुनिश्चित अन्यथा उनके अग्रधन की राशि जब्त कर ली जाय।

16. इस कार्य का व्यय विभाग द्वारा निर्गत प्रशासनिक स्वीकृति में अंकित शीर्ष अन्तर्गत होगा।

17. एकरारनामा के समय प्राक्कलन के अनुसार इस कार्य को पूरा करने हेतु संवेदक से मदबार कार्य योजना एकरात के समय प्राप्त किया जाय तथा उस कार्य योजना की प्रति संबंधित कनीय अभियंता एवं सहायक अभियंता को भी उक्ष कराया जाय, ताकि कनीय अभियंता एवं सहायक अभियंता निर्धारित समय के साथ मदबार प्रगति का आकलन कार्यपालक अभियंता एवं संबंधित संवेदक को सूचित प्रत्येक 15 दिनों पर करेंगे। अगर संवेदक द्वारा निर्धारित सम अन्दर उक्त मद के मात्रा का लक्ष्य प्राप्त नहीं किया गया तो कार्यपालक अभियंता दंडात्मक कार्रवाई संवेदक के कि करेंगे। कार्यपालक अभियंता अगर उक्त निदेश का पालन नहीं करते हैं तो वे स्वयं कार्रवाई के पात्र होंगे।

18. सभी निविदा कागजात एवं तुलनात्मक विवरणी की मूल प्रति आवश्यक कार्रवाई हेतु लौटाई जाती है। आप ि कागजातों एवं तुलनात्मक विवरणी के जांचोपरान्त आप आवश्यक निदेशों को अपने स्तर से निर्गत करेंगे।

19. एकरारनामा से पहलें निविदाताओं द्वारा दिये गये कागजात का सत्यापन उनके मूल कागजात से मिलान का जाय।

20. इस निविदा की राशि में अगर कोई अंतर होता है तो इसकी सूचना तुरन्त इस कार्यालय को दी जाय।

21. कार्यपालक अभियंता, एकरारनामा करने के पूर्व संवेदक का निबंधन संख्या पूर्ण पता एवं दूरमाष संख्या कार्यादे अंकित करेगें तथा इस कार्यालय को सूचित करेगें।

22. परिमाण विपत्र की दर से कम दर उद्धत करने वाले संवेदक से विभाग द्वारा पूर्व में निर्गत दिशा निदेश के आलोह अतिरिक्त वांछित परफॉरमेंस सिक्यूरिटी की राशि जमा कराना सुनिश्चित करेगें।

23. किसी भी परिस्थिति में निजी जमीन पर निर्माण नहीं कराया जाय।

24. प्रत्येक 15 दिनों पर संवेदक से स्वहस्ताक्षरित विपत्र प्राप्त कर स्थल से मिलान कर मापी पुस्तिका में मापी दर्ज

भुगतान सुनिश्चित करेंगे।

25. संवेदक से बीड वैधता का प्रमाण लेने के पश्चात ही एकरारनामा करना सुनिश्चित करें।
26. कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन्
26. कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
26. कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
26. कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
27. प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
28. कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
29. प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
29. प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
29. प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
29. प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
29. प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
29. प्रमंडल, बगहा—1 को निदेशित किया जाता है कि विन
29. प्रमंडल, बगहा—1 को निदेशित करें।
29. प्रमंडल, बगहा—1 करें।
29. प्रमंडल, बगहा—1 को निदेशित करें।
29. प्रमंडल, बगहा—1 के निदेशित करें।
29. प्रमंडल, बगहा—1 करें।

अनु0-यथा उपर्युक्त।

ज्ञापांक- मु०अ०-3. ५१२ प्रतिलिपिः अभियंता प्रमुख, ग्रामीण कार्य विभाग, बिहार, पटना को सूचनार्थ समर्पित।

> मुख्य अभिर्येता–६, ए /पटना, दिनांकन्थ

मुख्य अभियंता-४, पटन / पटना, दिनांक-14

ज्ञापांक - मु030-3. 492 प्रतिलिपि : अधीक्षण अभियंता, ग्रामीण कार्य विभाग, कार्य अंचल, बेतिया को सूचनार्थ एवं आवश्यक कार्रजाई हेतु

> मुख्य अभिवता-६९ ∕पटना, दिनांक- (५-3'

पटना, दिनाक- 14-7 पटना, दिनाक- 14-7 प्रतिलिपि: सहायक आई०टी० मैनेजर, मुख्य अभियंता-5 का कार्यालय, ग्रामीण कार्य विभाग, बिहार पटना को सूर्व ई-मेल पर अपलोड करने हेतु प्रेषित।

मुख्य अभियंती-5.

Letter 2024

A TIP

Executive Engineer
R.W.D. (W) Division
Bagaha-1

चित्रकाम अमार विश्व